t r t 1 A -
(holesky  fochrmzel 0y,

1 : — ; 2/9/2015
Az U U} LA e

SYmmec  posiTive Oletin(t®. U is vpber VHiangelor
Examﬂﬁr A=z |1V O
\\\ 5 ~2

0 -2 2 |
b 4
i:Qg;u":_\ M%Z‘&“}L“JO
Ay
U‘vz,': ?ii_’%__” \ ‘
AUy Mz_g = %Enﬁm/u%ZM\ﬁ . .:Z_w\(@)::“'{
AL -
Mop = N0, — D = 2 ‘ — ——
v M?}?): \JQEB“Mfﬁ - Uz 3‘\!}2““0“%?)3\




0

X = \DOLWC){ NG

. |
th o{— %Lp/z% MY TT X

A

A S s\/cmme%ﬁc ?OSE

[ r { f | /]
Tive @Eagﬁ‘me 0T oo Wickh %




As TV *%J?Aue C\/uo\fsala/y %&&mﬁ%ﬁv‘@mﬁ wm U o ba/mfu/lozlﬁ
O

2
\ L 24 -+ V70 = (\~[3)

aaaaaaa

it

=
)
1 |
>
I
|

R
Y
3 '}; e,
!
i
%‘...w“’
R
sk, -
’;
§
. B — . R ’
.
y
-
E:
A |
-
frsrmr )
.
) 3
E
o —
# . -+
L
4
o
< -
¥
]
i M
et %
e

-
[
75'
]
40
s Bt TN
o
(
e
U.A




=X

>

il

o W A
J
= [5 ~
5
- A ~
—
Fres

e
(’,vuﬂ
U

AN

Q1 O\




has
N
1
i~
-
)
]
/’?
D
AN
N

Cowm Q\éfﬂlf\/ |

. [ [ r

Dos A= UTU —with U upper $rian gular, Yo Solve

4 A . { [
A=Y Lrst Solie U f

= 1 ’;ﬂ { , i
%{3—7\g “yom Sol e L/x::/; . Y16

Ax= UTUx = UT/!J:E

y § H f’%

_ 4 ! P ] - “ ( {
lviga U4 = 1o 15 @,&9\// Wi otatred SuwsTi YTt o (,OVMIEDJ-@XW}K

-"u -
, 3 [

=0w) % U Was loomdirdds 1 % CorplexiTy 1S =X/ =00y

N

-~

Emm\?'\e : m%“: \ D& % & | AJQOJ? glll=0




X

G

Y =

e OQZM

-

w——

WA

N X
b Ry

AR

f -

X0

79

Dee NV

RECIEN AN TR >0

TR

A X

A

o

MU NNl (X;-\ré\_.x} - U(Xg\,

oy

ZAA

AMOC) - alx -~ Ax)

M (v — Ax ) o




J o f.‘_/_\*,‘j;{}’a“
A Y2k b = (AT L< i< JU- 4,=4, =0
\\Xu\ 0% QT < 7 U/v
~ ,
e D\ A el i
\"\ Q."\ i d U /K 3// r\rmz
=1 . LA T M4y \ &)
o B S K JU U VUil )
ERN Y v i
» « |
0 0ot 2
L )

ThAw 20




N-! V- N
2
MTA_Mf: — < M:(‘%_wzﬁ;*,m\, - = é iﬂzé,f,cw)
{ U =y 4" Vv ik v = Y o mEE
N = 2 Aﬁ ' 2 }“«d]
S TR TP R S RN U YR TP -
X::\\q v U / =X ' ) LAJ/V“'?J
i\ A | i . ( i
Wt A 35 SYmmeYRC  Posttive deriniie & jpaud widi |
Trentive  ethods
A:D%C
) Iy —1/ ) , \
fxab &5 Dx=b-Cx) &> %= D (h-Cx)
[ 4 g (1 . N £ el ™
Metood — S5 = T (o ™) DECURSSON
, \ A . f / \ e
Yer X e e SoluTTow 61 AXT




Wil N s ¥ 7

Ogs- X* = r_BDME (:10“ C X%)

i N RN
vir ool = X X ervoir




Yur e WTopAll<l = ¢

&) o

/
. L \ ; ! ] n> f - 1y
Uhs- To Oom\{gﬁé *‘“‘)} L1TST Coim ,bm"f o = o O X%
. , £y AP
Wi Solve D X = o
A ! ! / [ N i}
Uos s Opproacls makes Sewse 17 Solying X =K 3 %)




